Name:____________________________________



Date:_______________
Measuring the Volume of Real Objects
Station 1 – Box full of goodies!
Volume of Starburst (cubic cm) _________________________

Surface Area of Starburst (square cm) _________________________

Volume of box (cubic cm) _________________________
Surface area of box (square cm) _________________________

Number of Starburst to fill the box _________________________
Station 2 – The plumber’s pipe
Radius (cm) _________________________
Height (cm) _________________________
Volume (cubic cm) __________________________________________________
Surface area (square cm)

Station 3 – The air in there
Circumference (inches) _________________________
Radius (inches) _________________________
Volume (cubic inches) _________________________
Surface area (square inches) _________________________

Station 4 – I scream, you scream, we all scream for ice cream!
Volume (cubic cm) ______________________________________________________

Surface area (square cm) ______________________________________________________

Station 5 – A trip to a far away land
Height (cm)_______________
  Base area (square cm)_____________
Volume (cubic cm)__________     Surface area (square cm) _________________________

	Perimeter
	
	square
	P = 4s

	
	
	rectangle
	P = 2l + 2w or P = 2(l + w)

	
	
	
	

	Circumference
	
	circle
	C = 2πr or C = πd

	
	
	
	

	Area
	
	square
	A = s2

	
	
	rectangle
	A = lw or A = bh

	
	
	triangle
	A = ½ bh

	
	
	trapezoid
	A = ½ (b1 + b2)h

	
	
	circle
	A = πr2

	
	
	
	

	P represents the Perimeter of the Base of a three-dimensional figure.
	
	B represents the Area of the Base of a three-dimensional figure.
	

	
	
	
	

	Surface Area
	
	cube (total)
	S = 6s2

	
	
	prism (lateral)
	S = Ph

	
	
	prism (total)
	S = Ph + 2B

	
	
	pyramid (lateral)
	S = ½ Pl

	
	
	pyramid (total)
	S = ½ Pl + B

	
	
	cylinder (lateral)
	S = 2πrh

	
	
	cylinder (total)
	S = 2πrh + 2πr2

	
	
	
	

	Volume
	
	prism
	V = Bh

	
	
	cylinder
	V = Bh

	
	
	pyramid
	V = 1/3 Bh

	
	
	cone
	V = 1/3 Bh

	
	
	sphere
	V = 4/3 πr3

	
	
	
	

	Pi
	
	π
	π ≈ 3.14 or π ≈ 22/7


